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1 | =4tF [EhmEEEBRUER 9 14 62.2 BB 113.01.01 23 23
2 | =dm [BEhHAZEBRIER 22 17 63.7 FERD 112.01.03 39 39
3 | =itF [EhmRLEBRUER 18 7 56 FED 111.01.17 25 25
4 =1t/ = L ER IR B 23 13 67.1 Rze 30 111.07.01 36 36
5 =1t/ | E=dbm T ARBEERIIE B 21 8 54.4 Rze 30 111.03.23 29 29
6 | =dtm |EbHPEEBRIER 12 4 58.5 FED 112.09.22 16 16

INET 105 63 6l 168 168
7 | Eom |ZEREESNER(REDR) 21 4 51.7 B2 RIE 109.12.31 25 25
8 | 2hm | REE=NER(REDR) 31 2 50.7 Z2IE 109.12.31 33 33
9 | =bm |avm-SHEBKER(ES TR 27 0 62.8 BED 109.12.31 27 27

INET 79 6 549 58 27 85
10 | =@m |[EREREESNIER 31 9 4322 B2 RIE 110.09.01 40 40

INET 31 9 43.2 40 40
11 | 5%k |SRRETE B ESRIER 22 0 59.7 B2IE 110.08.28 22 22

INET 22 0 59.7 22 22
12 | 6% B %-ECEEBRUER 38 6 595 BB 1121231 44 | 44

INET 38 6 59.5 44 44
13 | @R% |ERBREESNER 20 0 48.7 B2IE 1121231 20 20
14 | mR% |aRk%- aRaenEERRER 27 17 62 BES 1121231 44 | 44
15 | MR |mRk-nRann R nER 45 4 58.7 BES 1121231 49 | 49
16 | mR% SR ENBENESERMIIER 27 4 57.6 BES 1121231 31 31
17 | &85 8% A BAMEXERIUER 18 9 58.4 BES 1121231 27 27
18 | &% |- EABR NN ERIIER 43 0 53.6 BES 1121231 43 | 43
19 | #R% |ERG-TESEREBER 30 11 67.9 BEB 1121231 41 | 41
20 | Ak SR EmEESREEMRIER 42 3 60.1 BEB 1121231 45 | 45
21 | a1 |ER%-EE DB KEREBIIER 12 2 47.9 BEB 1121231 14 14
22 | E18% |ERR-TLEAEEEBIIER 24 4 69.1 BEB 1121231 28 28
23 | ik |ER%-PEAAMEEDIIER 32 7 57.1 BEB 1121231 39 39
24 %% |- B EEN BEMSRIERK 32 0 55.2 BzE 4T 112.12.31 32 32
25 | itk |- mBEYCEEERMRIER 32 4 712 BED 1121231 36 36
26 | mitE |mink-m B E IR B ERMRIER 34 5 62.7 BED 1121231 39 39
27 IR IR - K B A0SR T AYBESBRUERK 30 12 61.5 BzE 4T 112.12.31 42 42
28 | 1% |ERR-EE N H S EBIUER 27 4 54.3 BED 1121231 31 31
29 | @8R |- LES MEBTUE 23 7 65.1 BED 1121231 30 30
30 %% |FIR A1 B EKTE B EESRUERK 28 15 62 BzE 3T 112.12.31 43 43
31 | % |ERG-REECEERRER 37 6 62.7 FEAD 1121231 43 | 43
32 FIR% |FEIRB-KBEMENAM ERRIERK 39 3 67 BzE 3T 112.12.31 42 42
33 IR |FEIRBR-EEH B EESBRUERK 18 0 48.6 BzE 3T 112.12.31 18 18

INET 620 117 60.5 20 717 737
34 REE |EEMEBESRIERK 17 4 53.2 EZNIE 110.12.31 21 21

INET 17 4 53.2 21 21
35 | ®E | %M an B ER 24 7 57.1 22 110.09.30 31 31
36 | mM% |5 NREIENESRIER 25 0 53.5 S2IE 110.09.30 25 25
37 | iM% |GG B2 RIER 15 10 516 S2IE 111.04.29 25 25




38 | ik | WHBKENZSRERK 22 0 50.9 ERREE 110.09.30 22 22
39 | withRs | RR MBS BERDRUE B 29 20 60.7 540 110.09.30 49 49
INET 115 37 55.9 103 49 152
40 | EEW |[tEREZESRER 47 0 58.9 ERREE 112.01.19 47 47
41 | EEH |BEEBZESMUIER 47 0 56.5 ERREE 112.01.19 47 47
42 | EEH |SHEBUER 18 14 60.5 =540 112.01.19 32 32
INET 112 14 58.4 94 32 126
43 | #1TH |FTH-BEETE 16 5 46 RE 110.01.01 21 21
INET 16 5 46 21 21
44 | ®=& Fa 7 1 1m B RE SR RUE X 29 10 48.8 540 111.04.30 39 39
INET 29 10 48.8 39 39
45 | =M% | EPIBOEE B ERUE R 41 3 59 540 110.12.17 44 44
INET 41 3 59 44 44
st 1225 | 274 584 21 358 1120 | 1499




